Geometry

Assignment

ID: 1
Name

Date Period

State what additional information is required in order to know that the triangles are congruent for the

reason given.
1) AAS

R P

|

A) /PQR = #IQR or ~.QRP = ~/QRI
B) @ = @ or @;ﬁ%

C) «QRP = £QRI

D) «P =zl or «.PQR = ZIQR

3) LL
v w
u
R s
A) WU =RU
B) «V=_/S

C) UV =USor VW= SR
D) «WUV = /RUS or /W = /R

5) ASA

R Q
A) «\R= /L
B) PQ=PQ
C) «.RPQ=z= zLPQor «.R= zL
D) #/RPQ = /LPQ

2 gegss path-wsorlsheeh ory

2) SAS
I D
H J
A) ZzH=sDor zIJH = AID
B) HI=zDJ
C) Z0H=AJID
D) JH=ID
4) AAS
R
S
K T
o
A)RT=IK
B) TSzKSorRT=IK
C) «T=«K

D) /TSR = «#KSI

6) HA

Y

/ F
X
E

A) £ZXY = /FXE

B) YZ=EF

C) XY = XE or YZ = EF
D) «~Yz<sEor«Z=/F

math-worksheet.org



7) HL

L
A) /BCD = /BCL
Bycb=CL
C) CD=CL orDB=LB

D) «DBC =z #LBC or «BCD = #BCL

9) LL

Y

A) 2ZXY = zZXF or 2Y = /F
B) YZ=FZ

C) XY = XF

D) 2Y=z=/F

11) AAS

J L
U\/V
W
K

A) 2J=,U
B) E;@orﬁzm
C) JKzUV
D) 2JzsUor 2Lz /W

2 gegss path-wsorlsheeh ory

8) HA

w
A) WU = KU
B) VW = LK
C) «V=~L
D) UV = UL or VW = LK

10) SAS

| &
A) Q__R;@
B) SQ=WU

C) 2.Qz=,Uor «£S=,sW
D) /R= 2V

Q U

12) ASA

H X

W Y
A) YW= HX
B) YWX = ZHXW
C) XY=WH
D) ZWXY = 2XWH

math-worksheet.org



13) SSS 14) HL

W u G
L /
D
H ] c
K J
o v
A) KL = VW
B) LI=WU
C) JK=UV or KL = VW B
D) JK=UV A) DC = DG or CB = GH
B)DC=DG
C) DCzDGorBD=HD
D) «BDC = #HDG
15) SSS 16) HL
B T
F
J S U
G H
A) £G=/B
B) GF =~BF )
C) «FHG = #«FHB or «GFH = «BFH — —
D;%;@orm;m A) ST=S)
B) ST=SJor US=KS
C) «T=AJorzU=sK
D) TU = JK
17) LA 18) SSS
V U 1]
X L T T
S
M
H
A T=MH
B) UT=UHorSU =3SU
= C) TS=HS_
. N D) UT = UH
A) zN = X

B) LM =VM or NL = XV
C) zL=2Vor /N = zX
D) ZLMN = 2VMX or zN = zX

2 gegss path-wsorlsheeh ory

math-worksheet.org



19) SAS

A) AB=zIB

B) «ABC = #IBC or «BCA = ~/BClI
C) AB=|Bor CA=Cl

D) z/Az= I

21) LL

D) «JHI = «DHE or 2J= «D
23) HA

M NE—

A Tz,
B) TR=JH
C) ST=SJ
D) #RST = «zHSJor £T= 4J

2 gegss path-wsorlsheeh ory

20) AAS

F

4
A) <FED = /TEV
B) DF =VT

C) FE=TE

22‘?)H£F = /T

Y\y\KT M
z
A) /MKL = 2ZKY or «M = /Z
B) KL = KY or MK = ZK
C) LM =YZ
D) «zL=sYor«M = «Z

24) HA

\ u |

w H
A) /W=z=_,H

B) «AW=z=_/Hor 2V =z /I

C) VU = 1

D) UW = JH

math-worksheet.org



Answers to Assignment (ID: 1)

1) A 2) B 3) A 4) C
5) D 6) B 7) B 8) B
9) C 10) D 11) A 12) B
13) B 14) C 15) B 16) D
17) B 18) C 19) A 20) D
21) C 22) B 23) C 24) C

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 2
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) SAS 2) LA

K R P

A
Y

J_ _L_ L

A) JK = AK or KL = KL

B) JK = AK N
C) )= sAor 2JKL = /AKL

A) ZZ;zRorg;@

D) zJ=2zA B) XY= PY or ZX =RP
C) «X=sPorzZ= /R
D) XY=zPY
3) SSS 4) HL
I G A K Vv
J | X/O\f»\w
Y c H B A) 2J=,sW
A) 21=.C B) zK=2X
B) GH = AB C) JK = WX
C) GH=ABor IG = CA D) 2z /W or zK = X
D) IG=CA
5) ASA 6) ASA
T J
Q\y\o/R
! L+ " ! K
Vv
A) Q=2
B) PQ=z=1Jor QR=JK
C) «P=zlorzQz=/J]
D) #«P = I
K_ —
A) TV =KI
B) «VzzIlor 4Tz K
C) V=21
D) VU= IU

2 gegss path-wsorlsheeh ory
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Y Q 8 C\Q/
A) XY=RS

B) £W=£Q A D~ R "
C) YW=SQ B) é_Bjé
D) /X = /Ror /Y= /S c; i
£ =/
D) BD=TR
9) ASA 10) HA

D

F

E

A) «.G=.D
B) GE=DB
D C) FG=FD
A D=1 D) «EFG = «BFD or «.G = «D
B) 3= 1Jor JK=JD
C) «KIJ= «DlJor «K= «D
D) «KIJ= ~DUJ

11) SSS 12) AAS

F T
A) /EGF = /GEY or /FEG = /YGE

B) FE=YG v X
C) zF=2¥ A) 2V =25
D) GF = EY or EG = GE B) VW =SX

C) £V = /S or VWX = /SXW
D) VW = SX or XV = WS

2 gegss path-wsorlsheeh ory

math-worksheet.org



13) HA 14) ASA

N

N

L M S §]
L

A) sN= S B) ML=TU M E
C) sL=2U D) LN=US

N
A) /L= /G or ZLMN = /GME

B)NL=EG
C) LM=GM or NL =EG
D) LM=GM
15) ASA 16) LL
v J E
J\Q//I
& :
U T K o D C
A) 2U=z=A4 B)@;J__K A) JH=EC
C) VT =Kl D) TU=1J B) «l=sDors)=/E
C) 412D
D) 1J=DE
17) SAS 18) AAS
A K L
L
c $ A
M s
A) /K= sSor /LMK = #/MLS
- E B) «KLM = £ZSML or ZLMK = ZMLS
A) CA=BE C)KL=SM
B) A= Eor «ABC = Z/ECB D) KL=SMor MK =LS
C) AB=EC

D) BC = CBor CA=BE

2 gavsgsapath-iorksheel.ory
math-worksheet.org




19) LA

N
S Q

A) £SRQ= /RSVor £Q = 2V

B) SR=zRSorQS=VR

C) £QSR = £VRS or SRQ = ZRSV
D) RQ=SVorQS=VR

21) SSS

Y

E

A) 2ZXY = £ZXE or £YZX = «EZX
B) £YZX= /EZX

C) YZ=zEZ

D) XY = XE or YZ=EZ

23) SAS

W

A)@;W
B) ~d= /Y
O dL=vw
D) LK=z=WKorJL=zYW

2 gegss path-wsorlsheeh ory

20) SAS

F
A) AC = AF
B) BA=BA
C) «C=z= «F or «.BAC = /BAF
D) ~CBA = ~FBA

22) AAS

G H

F

A) GH=MN
B) zH=«N
C) zFz=zLor .G = «M
D) zF= /L

24) HA

S

N

R T

G
A) ZR=sFor£5=/G
B) RS=FG or ST = GH
C) «.S=z,GorsTz=sH
D) «S= /G

math-worksheet.org



Answers to Assignment (ID: 2)

1) B 2) B 3) D 4) C
5) C 6) A 7) C 8) B
9) D 10) C 11) B 12) A
13) B 14) D 15) A 16) A
17) C 18) B 19) A 20) D
21) C 22) D 23) A 24) C

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 3
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) HL 2) HA
\% I H
P\
W T © L
N - _M_
A) LM=LHorNL =1L
R . B) NL=IL
A) RP=WP B) PQ=PV C) MN=HI
C) L R= /W D) QRzVW D) z/Mz=sH
3) LA 4) LA
W D B F
E
Y X
C E G
A) ZzB=_sEor /D= <G
B) CD=FG
A) WR=EX or TW=GE C) L=sPorD=sC
) WX=EXor YW= D) CD=FG or DB=GE
B) /W= /E
C) &Y=«
D) XY =XG or YW= GE
5) SSS 6) ASA
E K R
G/\\F M/\\L
—_— K
A) GE = MK J .
B) /F=/L
C) EF =KL
D) «FzzLor .G = /M
|
A) =R
B) KI=TJorJI=JR
C) KI=TJ
D) JI=JR

2 gegss path-wsorlsheeh ory
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7) SAS 8) HL

R T
L X X S
M 2
A) sX=/T B) WV=SR
C) «V= /R D) VX=RT
o Vv
A) NM = VM
B) ML =z MX
C) «.NML = ~VMX or zL = zX
D) zL = «X
9) AAS 10) HL
H G
F Vv
S /Q\
X B W
= H
T —_ —_ _ _
R A) WX = GH or XV =z HF
A) (Tz=/F

B) V= /For /W= /G

B) 4T=2For £TSR = «FSH C) VW =FG or XV = HF

C) £TSR= /FSH

D) XV = HF
D) TS=FS
11) ASA 12) LL
T X
A H B R
| G
. c
A) AB=TB B) ~ABC = /TBR
C) CA=RT D) A=z /T H
A) sHz= X

B) £ZIGH=2GIX
C) GH=IX or HI=XG
D) GH = IX

2 gegss path-wsorlsheeh ory
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13) AAS

u T

A) ZUVT=2VUN
B) TU =NV or VT = UN
C) «T=«N

D) «TUV = zNVU

15) LA

K
A) «Kz=,Y

B) ZL=zXor zZK=2Y

C) ML=MXorKM=YM

D) /KML = 2zYMX or 2L = #X

L

17) SAS
|
U
W - y
H_ L J
A) LW =) B) WU = JH
C) V= D) UV = HI

2 gegss path-wsorlsheeh ory

14) SSS
Q
JWH
|

S R

A) zH=,Q

B) zl=/R

C) JH=S8Q

D) 1J=RSorJH=SQ

16) SSS

H Q

s R

A) RSz HQ

B) SQ=QS

C) QR=SH or RS=HQ
D) «.R=zH

18) SAS

P
A) #XYZ = /PYR
B) XY = PY
C) XY =PYorYZ=YR
D) YZ=YR

math-worksheet.org



19) ASA 20) ASA

c E /5\\ X
D R H G Z Y
A) ~.EDC = ~/EDRor «.C = /R A) £,Gz=rY
B) «CED = «RED B) z/F=«Xor/H=/Z
C) «C=«R C) «HzzZ
D) DC=DRor CE =RE D) zF = zX
21) HL 22) HL
K J T
L
S
X 1 U
z
A) Q=27 B) £ILK = /ZLK
C) JL=ZL D) KJ=KZ W
A) <£UST = LWSX
B) «UST = 2WSX or 2T = zX
C) £T=zXorzU=2sW
D) ST =SX or US = WS
23) LA 24) HA
K_[| R P K
T I ‘ J
Q
A P=sK
B) QR=JlorRP = IK
mE C) RP=IK
5 D) ,Q=,Jor .R= /I
A) ST=IT or US =KI

B) «STU =z zITK or zU = #zK
C) £S=zlor £8TU = «ITK
D) ST=ITorTU =2TK

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 3)

1) D 2) C 3) A 4) C
5) A 6) C 7) B 8) B
9) A 10) C 11) D 12) D
13) C 14) C 15) B 16) A
17) C 18) D 19) B 20) A
21) D 22) D 23) A 24) D

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 4
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) SSS 2) SAS
B E 3
G_ L = ]
A) FG =BE |
B) «FGE = /BEG B
C) £F = /B or «FGE = /BEG A) sH= B
D) GE =EG B) Hi= Bl
¢ =y
D) J=1JorJH=JB
3) SSS 4 LA
R S
B/\\D
W
\// R o X
C
A) £BDC = /BDR
) BC = bR or CB = 7B A) WK = WRor VW = W
C) DC=DRor CB=RB ) WX =WRor YW=

D) DC = DRor BD=BD B) XY=RS
C) WXz WRor XY=RS
D) zX=z /Ror 2Y = /S

5) SAS 6) HA

R E T

Q G
A) /R=/F B) £S=/E
C) RS=FE D) SQ=EG

A) .FGH= TGV
B) FG=TG or HF =VT
C) GHz=GV
D) zF= /T

2 gegss path-wsorlsheeh ory
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7) LL

w

AWITU

B) UV=USorwu=TU

C) VW = ST

D) ZWUV = 2TUS or zW = /T

9) HL
D
I
O E
__ _H
A)HI=DE
B)%;@orHI;DE
C)(ﬂ—l;iD
D) IG=ZEG
11) LA
S U A
T
A) TS=TA

B) ~SUT = ~AUT or ~UTS = ~UTA
C) «UTS= «UTAor «S= /A
D) #SUT =z ~AUT or «S= /A

2 gegss path-wsorlsheeh ory

8) LA

M w
L K X Y

A) KL = YX or MK = WY
B) KL = YX or LM = XW
C) MK = WY

D) zZK= Y or 2L = zX

10) LL

F

A) E;Q_R
B) E;@or%;ﬁ
C) @;@orﬁzﬁ
D) EG =RP

12) SSS

L H
A)ﬁ;ﬁ
B) /M= C
C) MK=CA
D) KL= ABor MKz CA

math-worksheet.org



13) AAS 14) ASA

P X
R : : D
Q
Y
- _ B P | i z
A) QR=QDor RP=DB
B) PQ=BQ
C) PQz=BQorRP=DB
D) «.P= /B 4
A) 2ZYX = /DYF
B) zZz= D
C) zZ=sDor zX=sF
D) ZY=DYor XZ=FD
15) ASA 16) ASA
H F M
I © L&N £ 5
A) GH=MN
B) FG = LM
C) «FzzLor .G z=«M
D) «zFz= /L
_ R
A) DE=DEor EF =ER
B) EFzERor FD=RD
C) LFDE=/RDE __
D) DEzDE or FD=RD
17) HA 18) SSS
| N . v
J K M L X w
A) IK=NL A) ZXVW = /VXF
B) zl = 2N B) WXz FV
C) zJ=z«Mor zIl = «N C) 4W=z=F
D) «K=zLor 2= /M D) «W = zF or ZWXV = £FVX

2 gegss path-wsorlsheeh ory
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19) SAS 20) AAS

B D H
|
J
¢ D
A =D
B) HI=DJorJH=I
C) HI=DJ
G D) «4H= D
E
A) «DCB = £ECG
B) CB=CG __ __
C) DC=EC or BD=GE
D) DC=ECorCB=CG
21) HL 22) HL
W N
G S v -
w W
L M | L
__F v
A) FG =VW A) NL =WL B) 4Nz W
B) GE = WE C) «M = 2V D) MN = VW
C) £GEF = 2ZWEV or £F = 2V
D) EFzEV
23) ASA 24) LA

H\G W U r H

U [
A) H__G;Eora;U_H

B) HG=IU Vv G
g)) IATEBIEHHEIAUH' A) UV = HG or VW = GF
= B) «Vz/Gor /W= /F

C) U= H

D) UV zHG

2 gegss path-wsorlsheeh ory
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Answers to Assignment (ID: 4)

1) A 2) B 3) B 4) A
9 A 10) D 11) C 12) C
13) D 14) B 15) B 16) C
17) C 18) B 19) B 20) D
21) A 22) D 23) C 24) B

2 gegss path-wsorlsheeh ory
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ID: 5
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) AAS 2) SAS

VQU
K
D F A) £TUV = KUV
A) 2D=H B) TU =KU
B) DE=HF C) 4T = Kor ZUVT = ZUVK
C) «EFD = ~FEH D) VT = VK
D) ~DEF = /HFE
3) HL 4) SAS
G y J
/O\O/ «
| H ﬁ
W
A) <GHI = ZHGY Y
B) HI=GY L <
C) IG=YH A) JK=WX B) zK= «X
D) GH=HG C) KL = XY D) sL= Y
5) AAS 6) HL
R G H \%
> Q ! y L G
=
A) £Q= I
B) .Sz,GorsR=zsH +
C) LRz sHor Q= /I
D) .Sz /G O H
A) TU=THor UV =HG
B) VT =GT
C) tV=sG
D) UV = HG

2 gegss path-wsorlsheeh ory
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7) LL

Q
A) DE=QC
B) «ECD = ~CEQ
C) CD=EQ
D) «.D=2Q or «.DEC = ~2QCE

9) LA

J K X Y

4

A) J=YZ

B) KJ = XY or IK = ZX
C) zKz= zXor 2= 2Y
D) KJ = XY

11) SAS

T H
UAS |/\
A) «S=sH
B) zUz=dor 4Tz

C) Tzl
D) TS=IH

2 gegss path-wsorlsheeh ory

8) LA
Y z
F
H_ - _G_
A) FG = FYor HF = ZF
B) FG = FY

) GH=YZor HF = 7F
D) FGzFYorGH=YZ

10) SSS
[ H R
: P HH Q
A) £L)=,P
B) J=QP
C) J=QPorJH=PR
D) JH=PR
12) ASA
D
5 ¢ 5
R JEN— Q R —_—
A) DB=SQ B) BC=QC
C) «D= /S D) CD=CS

math-worksheet.org



13) LA

H

A) 2JIH = 2JIN

B) «JIH= 2JINor «H= «N
C) «HJI = «NJlor zH = 2N
D) J=JlorIH=IN

15) HL
G /AQ\\
F— ¢ ¢ B
A) EF = AB B) GE = CA
C) zE= ~£A D) FG =BC
17) SSS
Vv W
U S
A) VW = SU
B) zV=sS
C) VW = SU or WU = UW
D) UV =WS

2 gegss path-wsorlsheeh ory

14) AAS

A) 2J= /S
B) «.K=z/Ror2J= /S
C) zL=2Q
D) LK = QRorJL=SQ

16) HL

A) Jl= ABor Hl = CA
B) zZlz~«Bor«H=z=+C
C) zJ=zsAors«H=«C
D) JI=ABor IH=BC

18) SSS

Y X
A) YZ=CZ
B) £YZX = +CZX
C) XY= XC or ZX = ZX
D) «Y = «Cor £YZX = «CZX

math-worksheet.org



19) SAS 20) HA

! G

N u
A) 7/IHG = «.BGH T
B) IH=BG or HG = GH
C) HG=GHor Gl =HB
D) zl=z /Bor z2IHG =z ~,BGH
L
A)@;E

B) UV=ULorVT=LN
C) «zTzsNorzVz=,sL

D) «V=z= /L
21) SSS 22) SAS
L D S
//\%\ R
K™ ™M E I G - - Q
A) KL =ED or MK = CE
B) MK = CE
C) «M=z= «C - |
D) <K= A) RS=RI
B) £Q= 4G
C) QR=GR
D) RS=RlorSQ=I1G
23) HA 24) SSS
X y | ,
W
C D X K
A) £YWX = ,CWD or zX = 2D A) 2Kl = 2XIK
B) XY=DC B) £KIJ= ZIKX or 2ZJKI = 2XIK
C) WX=WD C) =KX
D) «X= D D) JK = XI

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 5)

1) A 2) B 3) B 4) B
5) C 6) D 7) C 8) A
9) B 10) D 11) D 12) B
13) B 14) C 15) D 16) A
17) A 18) A 19) A 20) A
21) B 22) A 23) B 24) D

2 gegss path-wsorlsheeh ory

math-worksheet.org



ID: 6
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) LL 2) AAS

L F

P T
\ﬁ/g\e
A) «.G=./L

B) #«HFG = «FHL or «.GHF = ~LFH

C) FG =HL A) 2Q= U

D) GH=LF B) QR=UV
C) PQ=TU or QR= UV
D) @;Worﬁ?;ﬁ

3) SSs 4) ASA
L N V X
E
F/Q\D
M T_ - \ W \Y
A) M= U B) NL =VT A) /W= E B) VW = FE
C) zL=/T D) 2N =2V C) XV =DF D) «X= /D
5) HA 6) LL
E B
v E_uCM
G F\@/ A
o )
A) EF = WF
B) FG = FY D
C) <EFG = /WFY A) BA=ED
D) <EFG= ZWFY or £G = £Y B) CB=CE or AC~DC
C) CB=CE
D) AC=DC

2 gegss path-wsorlsheeh ory
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7) LA 8) AAS

W E Q
L
L >~ R S
_n . A) /SRQ = /EQR
g) AELNMB AUL\I\//IV or év'\\//'=4W B) £SRQ = /EQR or ZRQS = ~QRE
) ZK=2Uor M= W C) SR=EQorRQ= QR
C) KL =UL or MK=WU D) ~S=/E or /RQS = /QRE
D) z4M = /W
9) SSS 10) SSS
R E U V
S/\T G/\F
A) RS=EF ¢ W
B) «S=/F VW ~ oW
A) VW = GW
C) «.R=sEor «S= /F TN ~ I e N~ S\
D) TR=5E B) UV = UG or VW = GW

C) ZWUV = 2AWUG
D) ZWUV = £AWUG or VWU = ~GWU

11) SAS 12) LA
~ |
A) FD=ET X Y
B) DE=TF

C) «D = /T or «.DEF = /TFE
D) #EFD = /FET

A) ZY=MYor XZ=KM

B) XZ = KM

C) zZ=sMor £ZYX = /MYK
D) zZZ=z/Mor zXz= sK

2 gegss path-wsorlsheeh ory
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13) ASA

A) «GHI = «AHC

B) «.G= /A
C) £G=sAor «GHI = Z/AHC
D) GHz=AH
15) LL
B W X

Y
A) WX = WBor YW= YW
B) £YWX = ~YWB
C) £X= /B or ZXYW = /BYW

D) WX =WB
17) HA
sﬁQ H[
R G !
A) £R=sH B) «S= I
C) RSz HI D) .Q= .G

2 gegss path-wsorlsheeh ory

X HH W
A) JK =JIWor L= XJ

B) KL = WX or LI = XJ

C) ZLIK=z= 2XIW or zZK = /W
D) ZLJK = 2XJW

16) LA

[

A) /TUV = 2UTl or 2V = I

B) «VTU =z ZIUT or »V = /I

C) 2VTU = zIUT or ZTUV = 2UTI

D) £TUV = 2UTI
18) LA
J
I
F 1 K
. E
A D=lE
B) IJ=IE or KI 2 FlI

math-worksheet.org



19) SAS

K

A) Jl=JY B) <K= W
C) «KJl = LWJY D) «l =Y

21) AAS

M
A) LM =HM or MN = MN

B) ZLMN = #HMN or /MNL = #MNH

C) ZMNL = /MNH
D) MN=MN

23) LL

A B

A) «ACB = £ACQ

B) £ACB = #ACQ or «.BAC = ~QAC
C)CB=CQ

D) CB=CQorBA=QA

2 gegss path-wsorlsheeh ory

20) SAS
= w
G//\H Y/\\X
A) GH = XY

B) £F=/Wor£G= X
C) FG zWXor HF 2 YW
D) .Gz X

22) HL

U H T
A) £T=Zzlor ZU= /]
B) ST =Sl or US=JS
C) zU= 2]

D) STz Sl

24) LL

% P Q
A) /W= ,Q

B) VX = PR

C) XW = RQ

D) WV;R_QorVW;@
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Answers to Assignment (ID: 6)

1) C 2) D 3) B 4) B
5) B 6) D 7) C 8) B
9) D 10) A 11) B 12) A
13) D 14) A 15) D 16) A
17) C 18) B 19) A 20) D
21) B 22) B 23) C 24) B

2 gegss path-wsorlsheeh ory
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Geometry

Assignment

ID: 7
Name

Date Period

State what additional information is required in order to know that the triangles are congruent for the

reason given.

1) SAS

A I

A) IH=HI B) )= <A
C) £JIH = £AHI D) Ji=AH

3) LA

L N
B D

A) «BCD = 2zUCW or 2D = 2zW
B) BC= UC or DB= WU

C) BC = UC or CD = CW

D) CD=CW

5) AAS

W u S

Vv R
A) VW = RS or WU = SQ

B) WU = SQ

C) zVzsRor /W= /S

D) «U=~Q

2 gegss path-wsorlsheeh ory

2) HL

A) £XZY = 2HZG or X = zH
B) YX=GH

C) XZ = HZ

D) sXZY = ZHZG

4) LA
E Y\L\O/X
F”_/j\_e_ :
A) EF =z ZYor GE = XZ
B) «G = «X
C) .E=zZor ZF=2Y
D) GE = XZ
6) SAS
X
H 11l Y 1]
LI T Z
F — —
A) £X=<F B) ZY = HY
C) YX=YF D) «ZYX = /HYF
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C

A)Y__X;E B) XZ = AC
C) zY=CY D) «z=+C
9) HL
F G
J/\/
A) FG=EJ

B) «GEF = «JFE
C) «GEF = ZJFE or .G = 4]
D) EF =FE

11) ASA

A) £RQP = £SQU

B) PR=US

C) zR= /S

D) #«RQP = ~SQU or «.P = 2U

2 gegss path-wsorlsheeh ory

8) LA

G

A) £FGH= /FGD or zH=«D
B) GH = GD or HF  DF

C) «zH= D

D) «HFG = «DFG or «.FGH = «.FGD

10) SSS

R :
A) 2= sRor 2Kl = RIK
B) JK =Rl
C) 1J= KR
D) 2J=z /R

12) LL

H

A) zH=,C
B) IG=BD
C) HI=CB
D) «.GzDor«zl=/B
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13) LL

A) GE=LE

B) F=sK

C) FGzKL or GE 2z LE

D) «GEF = zLEK or ,.G = 2L

15) SSS

x W

d|

Y - ¢
A) 2Y=sEor Z4W=«C
B) WY=CE
C) «X=«D
D) XW=DC

17) ASA

T~

F M K

A) sH=z= /K
B) Gz
C) GHz= LK or HF = KM
D) zFz«M

vsgsgs . mabh-werksheeb.org

14) HL

A) ST = SW
B) 2Tz /Wor 2U = 2X
C) zU=2X
D) TU =z WX

16) AAS

Y i

c X

A) ZW = 2Cor ZWXY = 2CXY

B) XYz=XYorYWzYC

C) 2WXY = £CXY or «XYW = ~XYC
D) #/W = 2C or zZXYW = ~XYC

18) SSS

H

F E

A) £E=/Hor .EFD = ZHFD
B) DE =DH

C) EF = HF

D) «.E= sH
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19) LL 20) HA

D X
W//C F
. [
E — S
T E
A) FE=FT or DF =5F A) ZXVW = /FVE or /W = /E
— o B) WX = EF
B) DF = SF
= _=a C) zX=z=sF
C) ED=TS D) W= /E
D) «.D=z= /S -
21) HL 22) LA
T E
N A
MAL Cﬁ\,\e’
s u F D
A) M= ,Tor«N= U A) AB=FE or CA=DF
B) AL=sS B) AB= FE or BC = ED
C) LM=STor MN =TU C) zB=sEor«C= D
D) LM = ST or NL 2 US D) «.Cz=«D
23) SAS 24) SAS
M K K M
/U\\
\% L W v
A) LM =ML L
B) «KLM = ~VML A) LM =VW B) «.K=2U
C) zK= 2V C) MK=WU D) zM = /W
D) KL=VM

2 gegss path-wsorlsheeh ory
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Answers to Assignment (ID: 7)

1) C 2) B 3) B 4) A
5) A 6) C 7) D 8) A
9) A 10) B 11) C 12) B
13) A 14) D 15) B 16) C
17) B 18) C 19) B 20) B
21) D 22) C 23) D 24) A

2 gegss path-wsorlsheeh ory
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ID: 8
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) ASA 2) HA
s X
G Z—m
Y
« R - ;
A) SR=RSorRQ=SG v
B) #SRQ = #RSG A) YZ=YT
C) QSR = /GRS B) /X =V
D) RQ=SG C) LX=zsVorsZ=/T
D) XY=z VY
3) LA 4) ASA
M G
/év}\
E L V Yo E
“ A) UV =EF

B) QEE__For@;@
C) VW= FG or WU = GE
G D) «V=«F
A) KL=ELorLM=LG
B) KL = EL or MK = GE
C) m;@orW;G_E

D) MK = GE
5) AAS 6) HA
K L
G
F
X K
H J

A) /HGF = /KFG
B) «GFH = /FGK
C) «H=zK

D) GF = FG or FH= GK v

A) ZIKL= ZXKV or /L = 2V
B) KL =KV
C) 2J=«X
D) /L= .V

2 gegss path-wsorlsheeh ory
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7) SAS

A) (Tz=/F
B) 4T =«F or £TUV = zFUH
C) TU=FU
D) UV = UH

9) HL

A) 2Y=,Qor «W=/,S
B) W;a?orm;%
C)Wr=sQ
D) XW =RSor WY=SQ

11) AAS

A) «B= /W
B) «.B= /W or ~,CDB = ~DCW
C) «CDB = «DCW

D) CD=DC
13) LL
W
X
K
I_ _ J
A) 1K = WK B) £IKJ = LWKX
C) £J=sX D) KJ =KX

vsgsgs . mabh-werksheeb.org

8) HL

X

L

W Y
A) XY = XJ or YW = JW

B) ZWXY = 2WXJ

C) XY=XJ_

D) YW= JW

J

10) SSS

A) PRz HF
B) «.R=<«F
C) QPp=GH
D) RQ=FG or PRz HF

12) ASA

A) <EFG = 2YFW

B) «E= «Y or /EFG = /YFW
C) <E=2zY

D) EF =z YF
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14) LL

G
A) «/M = s/H
B) «/NLM = «GLH or zM = #zH
C) «NLM = 2GLH or «N = £G
D) NL=GL

16) SAS

R
A) «X= /R

B) £V=2P

C) WX=WR

D) «VWX=z= «PWR

18) SSS

A) CA=RP
B) /A= Por«C= R
C) .C=«R
D) AB=PQ

2 gegss path-wsorlsheeh ory

15) LA

|
A) RS=GSorTR=IG

B) £RST = «GSlor 4T = «I
C) TRzIG

D) RS=GS

17) AAS

z

a
A) HG =HG or Gl =GZ
B) A=z
C) IH=ZHor HG = HG
D) #HGI = /HGZ

19) SAS
FVE z
__ D X&Y
A EF=YX
B) DE=ZYor EF 2 YX

C) «<D=sZor LE=2Y
D) DE = ZY
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20) AAS 21) LA

N
H
G |
L L M

A z2Lz,Gor«M = s/H
B) 4aM=Hor /N = /I

C) NL=1G
D) zN =z /I
H J
A) zK= /]
B) «4M = zH
C) KL=JL
D) #/KLM = ~JLH
22) LL 23) LA
R B
¢
| X
W mpy S
z Y
1 A) £ZXY = ,CXBor Y = /B
B) XY=XBorYZ=BC
Vv L C) «Y=sBorsZ=,C
A) 2V =R B) WU = SU D) XY= XB or ZX = CX
C) ZW =S D) UV = UR
24) AAS
K—H L B c
J D

A) zK=,CorzL=«D
B) JK=zBCorLJ=DB
C) LJ=DB

D) 21J=zsBor«L=,D

2 gegss path-wsorlsheeh ory
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Answers to Assignment (ID: 8)

1) C 2) A 3) B 4 A
5) C 6) B 7) D 8) C
9) B 10) A 11) A 12) C
13) A 14) D 15) A 16) C
17) B 18) A 19) A 20) A
21) B 22) B 23) C 24) A

2 gegss path-wsorlsheeh ory
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ID: 9
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) AAS 2) ASA
Vv F
| W K 11l G 1]
F T x T T H
— _D — —
A) XW =DW or VX = FD [
B) XW=DW or WV = WF A) HG=KG
C) VX=FD B) HG =z KG or FH = IK
D) «Xz /D C) «H= sKor «4HGF = #KGlI
D) «H=z= K
3) LA 4) HL
S U B H c
N O
S
J
U H T
A) TU=BCorUS=CS
B) £T=«Bor«U=2C
|]—K C) ST=SBorUS =CS
A) E;U_iorﬁ;@ D) ST=SBor TU =BC
B) KI=SU
Q) B=ul
D) W=zUJorJK=JS
5) ASA
B
EVD
F
c A
A) .E=/B
B) FD=AC
C) DE=CB

D) EF=BAor FD=AC

2 gegss path-wsorlsheeh ory
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6) ASA 7) HL

c
D
¥ F \
v w
w X
A)XW=CD
H B) XW = CD or WY = DY
A) 2Xz ZF C) W=D
B) XWz=FW D) YX=zYCor XW=CD
C) ZXWV = 2/FWH or 2V = zH
D) WV = WH
8) LL 9) LL
E z
| f K
F = - |
LD ‘ Y
N . E
A) FE=zLK A) EF=zyz
B) ZEGF = ZKGL or ZE = «K B) DE=DYor EF =YZ
C) zF=zLor zE=2«K C) DEz=DY
D) EG =KG D) FD=ZD
10) LA 11) HL
M N v
L w X
5 E
A) ZLMN = ZLMS or N = /S =Y
B)) N= S A) VX =EW
C) WEM—Sorm;S—L g) %V\’/‘VV%(LWXE or«V=_,E
D) «NLM = ~SLM or «N = /S ) -

D) WV =XE

vsgsgs . mabh-werksheeb.org
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12) HA

| ;L
A) IH= LK or Hl = KM
B) 4H=«K
C) JI=ML or Hl = KM
D) zlzzLor zH= zK

14) SSS

D
TéR
S

A) ST=DRor TR=RT

B) ST=DR

C) £TRS= /RTDor «S=«D
D) TR=zRT

16) ASA

D
&L
FE

A) DE=DE

B) EF 2EL

C) z/F= L

D) ~FDE = ~LDE
18) HA

U
W \

13) SAS

C

W X

A) WV = WV
B) £XWV = /CWV
C) ZWVX = AWVC

D) XW = CW
15) SAS
B
A C E
A) «<A=/D B) CA=FD
C) BC=EF D) Bz E
17) ASA
G&
H b
A sH=z,/Mor .G = /L
B) £1= /N
C) IH=NM_
D) HG 2 ML
19) HL
M K 1

]

L
A) KL=VU or MK = TV
B) LM=UT
C) 4M= /T
D) «Lz= U
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20) SAS 21) LA

T u u F
VE\ . EE\ .
' F A)TV=GE
A) £TUV = 2/FUV B) VU=EFor TV =GE
B) <UVT = ZUVF C) «V=/E
C) £TUV = ~FUV or ZUVT = ~UVF D) «V=sEor £T=£G
D) TU =FU or UV = UV
22) SSS 23) LA
G F M
L
H F <
\
A) £FHG = ZFHV
B) GF = VF N
C) «FHG = zFHV or .G = 2V A) KL =HL or MK = FH
D) 4G =2V B) LM=LF or MK=FH
C) zZK=zsHor zM = 2F
D) «M = /F
24) SAS
) W

l K
A) JK = JK or KI = KW
B) E;Wi
C) JKzJK
D) 1K= 2,WJK

2 gegss path-wsorlsheeh ory

math-worksheet.org



Answers to Assignment (ID: 9)

1) D 2) D 3) A 4) C
5) C 6) A 7) A 8) D
9) D 10) A 11) D 12) D
13) D 14) B 15) C 16) D
17) C 18) A 19) B 20) A
21) B 22) B 23) A 24) D

2 gegss path-wsorlsheeh ory
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ID: 10
Geometry Name

Assignment Date Period

State what additional information is required in order to know that the triangles are congruent for the
reason given.

1) ASA 2) LA

X w

Q S i
A) YX = YRor WY = SY
B) zXz /Ror «W= /S
C) LWz /S
D) «WYX=z= «SYRor /W = /S

P R
A) R=sH B) PQ=FQ
C) QR=QH D) «P=F
3) HL 4) SSS
U\O//T ’ ’ i E A
S F
A) 2S=sForsT=/G
B) TU=GH F L K
C) ST=FG or TU = GH A) EF=LM B) FD = MK
D) «S=/F C) DE=KL D) «.E= /L
5) LA 6) HA
R X

N
A) RS=MS A) FG=FV
B) RS=MSor TRz KM B) «.G=«V
C) ST=SK C) GE=VX
D) ZRST = «MSKor /T = zK D) «E = sXor 2.EFG = 2XFV

2 gegss path-wsorlsheeh ory
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7) LA

-~
H J

A) sHIJ = 2YIW

B) zH= sYor zJ= /W

C) ZHIJ = 2YIWor 2J = /W
D) HIzYlor JH=WY

T~

R T
A) «RST=/SREor /T=/E

B) «.T=/E

C) «TRS = ~/ESR or /RST = /SRE
D) zTRS= #ESRor /T = /E

11) ASA

B

A C
A) BC=UV or CA=VT
B) B=cU
C) AB=TU orCA=VT
D) «B=Uor «C= 1V

2 gegss path-wsorlsheeh ory

8) SSS

N M
A) MN = HN
B) «aM=sH
C) «NLM = #NLH or z/M = zH
D) MN = HN or NL = NL

10) SAS

A) NV =sL
B) WV =KL
C) «zXzJorsNV=sL
D) ZW = «K

A)@;a

B) zH = 2Y or ZHIG = £YIG
C) GH=GYorIG=IG

D) HIzYI
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13) SSS

S L
Q RN M
A) QS=NL
B) SxA
C) RQ=MN or QS = NL
D) SR=LM
15) SAS
E D
T
U S
A) TS=TF

B) 2U= 2D or ZUTS = «DTF
C) TS=TForSU=FD
D) UT=DTorTS=TF

17) SSS

A) J=YH

B) zl= «Yor Z1JH = 2YHJ
C) zJHI = sHIY or zl = 2Y
D) «JHI = 2zHJY

2 gegss path-wsorlsheeh ory

14) HA
F H K
G | L
A) /F=z/K B) GH = JI
C) HFzIK D) zH=z= I
16) AAS
T U Q
y P

A) zU=2,Qor V=R
B) UV=QRor VT =RP
C) TU=PQorUV=QR
D) UV =QR

18) AAS

E H |

G
A) £G=zlor LF= 21
B) HG zKJor FH = IK
C) «zF = I

D) 4Hz /Kor /G =]
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A) KJ=TSorJI=SR
B) «Kz/Torzl =R
C) zZ1=z /R

D) 2J=zsSorz1= /R

21) LA

(1 N
H F

A) ZHGF = £GHS or £F = £S
B) GF =HS or FH =5G.
C) HG=GH or FH=SG

D) «F= /S
23) SAS
S R
M
LQK
. o
A) MK=RT B) KL=TS
C) «L= S D) LM =SR

2 gegss path-wsorlsheeh ory

20) SAS
J S
L/\%\K Q/\§>\R
A) LI=QS B) KL =RQ
C) LJI=sS D) «K= /R
22) HL
E L
G F
A) FG =EL
B) GE=LF

C) FG ~EL or GE =LF
D) «EFG = «FEL

24) LA

R
/\ M
T s\/
L o K
A) R_S;@OfST;SM
B) ST =SM

C) 4RST = zKSMor 4T = zM
D) RS=KS or TR=z MK

math-worksheet.org



Answers to Assignment (ID: 10)

1) D 2) B 3) B 4) B
5) B 6) A 7) D 8) A
9) A 10) D 11) B 12) A
13) A 14) B 15) A 16) B
17) A 18) A 19) D 20) B
21) A 22) A 23) D 24) D

2T gsgsus math-worksheet.ory
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